Ef-TEBRRAREE-—ER SM74E5H29 A BE
— HEEEE BEMIRRE
T I T X RE R
= — R X8 FREEH 5
MR EEELH Mg |REEILER
X7 GRKE) |FEmEEiEE (19
(TMKRE) |TIERESEREE [124
BR)IRE=38.4, B)IIFRE=20.2, BA)IFRE=24.6, FT)IIFRE=16.9,
FETNGRIEE=7.3, ME)IFRE=8.9, /N\E)IIFE=20.6,
s Eeae |DIAE=223 HB)GE=82, S8)InE=54, Bllaki=7.2
AN TR KINEgRi=12.5, (LOJIRIE=4.4, TR F)5RiE=4.2, FE)IIFig=22.3,
EFENGRI%=15.6, —BJIIFRi%=12.9, FH)];5i5%=16.6,
BENGRE=51
oK
= IlRE=(6, 18.1), IEJIRE=(6, 8), JIl L)IItiz=(6, 20),
E7) e waFE=(6, 7.3), BIIIFE=(6, 6.4), K/\K/IIif=(14, 12),
= = WaJnERE=(10, 4.1), SI&FIIFRE=(14, 3.6), —BJIIfRiE=(14, 12),
=aERE=(6, 4.5)
fgfgglg’kﬁﬁ K RE N (511K
A SE 4 EE 17m/s
ZRE T RE 17m/s BE&#S
= = 7y i 12851 BEE D FEX30em
AE REQRS T 125G B ) E500m
R FEES
=i B
X REWEEHEE |8
TIEREEHEE 106
BRIFRE=307, BIFRE=16.1, JX)IFHE=10.6, FIIIREH=135,
FET ) FRE=5.8, ME)IFE=7.1, /M\B)IIFiH=16.4,
T T JIENRE=17.8, %R )5EH=6.5, 4 &)5E=4.3, &)IIFE=5.7,
ALAPRETE KINENIFRE=10, ILONIFE=35, T2 F)IHRE=3.3, EIHE=178,
EFkNGRE=12.4, —&)I1FRI5=10.3, }#)II5RE=13.2,
BENRE=41
#oK =IFRE= (6, 12.9), FRTIIIFIE=(6, 4.6), MEJIIFHEH=(6, 5.7),
JIENIGRIEE=(6, 14.2), B )IFRE=(6, 6.5), S &)IRiZE=(6, 3.4),
o A BNRE=(5, 5.7), K/\BIFE=(6, 8), tLOJIlRLEg=(6, 2.7),
TRFIFsE=(6, 26), FENIFE=(5 17.8), HFER)IFE=(5 124),
—&JIIFRE=(5, 10.3), Fhe)IlFKiE=(6, 10.6), H&/IIFiE=(6, 3.2)
EEMNSATR |k Rm )i
EEIR ] T RE 12m/s
RAE T RE 12m/s EE&#S
= = Fih 12851 REE D FEX20cm
AE REQRS Lk 12 BB E D E=300m
R FEES
=i L
& BEFICFYEENTEINDEE
S BMEICKUKENRETIEZTNDHIIEE
BE 72 [100m
7] B/INEE25% T, ERTE60%
D248 R E D EEH0cm L E THEEMNT0cm Bl LT B85S
A (8 QBEENFESMNT0cml EH->T, BEHREMN2CULDIEE
QHEEDFEEINT0cmULEH>T. BN FEShLEE
iR L8 RIESE-12CUTF
B B -BEHICRIESREICUT
EK-EE ELVEKE)HNTESINGEE

EREREE R R AR

1RERE [100mm

NEREREEY RERSIER OHEASHhEICLSREEERLTILET.
*2 KB, B2 ENIERS



